Chapter 3:  Algebraic expressions and open sentences
Find the value of a2 - b if a = 3 and b = -5.

1.   14 

2.    4 

3.    2 

4.    11 

The sum of two numbers is s. If one of the numbers is n, the second number can be expressed as

1.   s + n 

2.   s 
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n 

4.   n[image: image2.png]


s 

What is the value of the expression 2x2 [image: image3.png]


5x + 6 when x = -2?

1.   32 

2.   -24 

3.   24 

4.   4 

Find the value of 5xy2  if x = -2 and y = -3.

1. -90 

2.   90 

3.   -60 

4.   60 

If x = 0.6 and y = 5, the value of 2(xy)3 is 

1.   5.4 

2.   21.6 

3.   54 

4.   216 

Expressed in terms of d, the number of weeks in d days is
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3. 7d 

4. 7 + d 

John's father weighs 20 pounds more than twice what John weighs. If John's weight is represented by  y, then his father's weight may be represented by

1.   2y 

2.   2y [image: image6.png]


20 

3.   2y + 20 

4.   [image: image7.png]


 y + 20 

The formula [image: image8.png]5
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 can be used to find the Celsius temperature (C) for a given Fahrenheit temperature (F).  What Celsius temperature is equal to a Fahrenheit temperature of 77°? 

1.   8° 

2.   25° 

3.   45° 

4.   171° 

If a * b = a + ba, find 2 * 3.

1.   6 

2.   8 

3.   11 

4.   14 

If rain is falling at the rate of 2 inches per hour, how many inches of rain will fall in x minutes?

1. 2x 
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Tara buys two items that cost d dollars each. She gives the cashier $20. Which expression represents the change she should receive?

1. 20 - 2d 

2. 20 - d 

3. 20 + 2d 

4. 2d - 20

Which expression represents "5 less than the product of 7 and x"?

1. 7(x - 5) 

2. 7x - 5 

3. 7 + x - 5 

4. 5 - 7x

Which expression represents the product of two consecutive odd integers, where n is an odd integer?

1. n(n + 1) 

2. n(n + 2) 

3. n(n + 3) 

4. 2n + 1 

Brendan’s age is represented by x - 4. His sister Meg is 3 times as old as Brendan. Which expression best represents Meg's age?

1. 3x - 4 

2. 3x - 12 

3. 3x - 7 

4. 3x - 1

Molly is four years younger than her brother Matty. If Matty is 2x + 2 years old, then how old is Molly?

1. 2x + 6 

2. 2x + 2 

3. 2x - 2 

4. -2x - 2 

Which is the correct verbal expression for the mathematical expression 3n + 2?

1. Two more than three times a number. 

2. Two less than three times a number. 

3. Two more than a number, times three. 

4. Three times two plus some number. 

How would say the mathematical expression n2 - 6 in words?

1. Six more than a number squared. 

2. A number squared less than six. 

3. Six less than a number squared. 

4. The sum of a number squared and six. 

Which verbal expression corresponds to the mathematical expression (2x - 1)2?

1. Two times a number, squared, minus one. 

2. Two times a number minus one, squared. 

3. Two times a number minus one squared. 

4. Two more than a number minus one, squared. 

Maria wrote the following expression in her notebook: (4x2 + 3)3. How would she say it in words? 

1. Four times a number, squared, plus three squared. 

2. Four times a number plus three, cubed. 

3. The product of four times a number squared and 3, cubed. 

4. The sum of four times a number squared and 3, cubed. 

Mrs. Marks teaches math. How would she say (12x)2 - 7 in words?

1. The product of twelve and a number, squared, less than seven. 

2. Seven less than the product of twelve and a number, squared. 

3. The product of twelve times a number squared and 7, squared. 

4. The difference of twelve times a number squared and 7, cubed. 

Which is the correct verbal expression for the mathematical expression [image: image12.png]217
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1. Seventeen more than the product of a number and four. 

2. The quotient of a number and four and seventeen. 

3. Seventeen more than the quotient of a number and four. 

4. The sum of seventeen and a number, divided by four. 

Which is the correct verbal expression for the mathematical expression 5 - 2x?

1. Five less than two times a number. 

2. Two times a number less than five. 

3. Five more than twice a number. 

4. Five times two plus some number. 

Brodie has ‘x’ cards in his pile. After he plays two more hands, his total is 3x - 4 cards. Which verbal expression represents the number of cards Brodie has now? 

1. Four less than double the number of cards he originally had. 

2. Four less than triple the number of cards he originally had. 

3. He lost four cards and then tripled the remaining ones that he had.  

4. He has three times four less than the original number of cards. 

The following expression, (3x)2 + 1 is best represented by which of the following answers?

1. A number squared times three, plus one. 

2. Triple a number, squared, less than one. 

3. Triple a number, squared, plus one. 

4. Triple a number plus one, squared. 
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